p.43

(DHIENX 1, V., #
FUHA 7,
(2)2:° —x 8
(312" DIRE 2
r DR -1
4171 oq 2
I:3

I

p.43

(DO HERX a1, +. #

ZHA T, Y, I

@) ah®, —ded®, —be
@t R 1

Ty DR %

A I 9.2 £
2) 2r°, =3 —

B FE 2
O/ -3
rORY: —
D71k T 2%kR Y 4R
I 5K #:3%kA H:i1kk
(31D HIHEK @ £Et @ ki

1-2 FASEOEEDHE

p.45

(1)5r & 2x, 8y & —3y

3 3ab

p.45

@ —bxy+9y+7
7
®) — E.’Z‘—!/

RCIRGIE::-]

1-3 SEXONMEERE

.47

(1) Q) 6a+26
@ 2r+3y
& 3m—bn

(2)D 8r+3y

Pyl Earoise

(1)@ 40—35
3 657° =7
& —2y
@ 5a°+7a—5
Q) drv—2y+4
1 —2r—9,+6

(2} D9

(3) @ 6xr—2y—5

2 3r

@) —2a+2b
B —2:°+7r
® 20°+2x—5
0 3a+2ab

1

@ — ' —r

4

W BB R

2 31" —4r—5
4 4" —3r+1
® Sr—y

@ —2r—11y

2 dr—y

3 —dr

® —3r—6y

® —22°4+1r+5
10 —14r—5y—8
19 3a°—7

2 —r—dy

@ —20r—8y+5

1-4 SEROVBNBIEHE

p.49

(1) —18z+42y

13 x—12y

(5) —ba+2h

(2) —=22r4+3y=1

4) — 18249y
6) 13r—y

{2) W 6xr+5y

392" —3r

2 —5r+3y

@ 2" +5r—4

6
. 2r+Ty (8) x+10y

6 4

(7

4l




